Math 105 TOPICS IN MATHEMATICS
SOLUTION FOR QUIZ — XII (05/01)
May 1 (Fri), 2015

Instructor: Yasuyuki Kachi

Line #: 52920.

1] (8pts)

(1) sin0 = 0, (5) cos % = 0.

(2) sin % = % (6)  sin 2; = g
(3)  cos % = % (7) simm = 0.

(4) sin — = T?, (8) cos (27r> = 1.

[IT] (2pts) (cosa:)2 + (sinx>2 = 1.

[ITI1] (4pts)

(1) sin <:z: v y) - (sin :z:) <cos y) + <cos :z:) <Sin y)
(2)  cos (x + y) - <Cos :1:) <Cos y) - <sin g;> (sin y).

[IV] (4pts)

(1) /Cosx dx = sinx + C. (2) /sinaz dx = —cosxz + C.



[V] (4pts)
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